Mitsubishi \GeneraI-Purpose\ Programmable Controller

Renewal Tool Conversion Adapter

Model
ERNT-AQT616DA

User’s Manual

B8]

RNT-AQT

Model ‘ ERNT-AQT616DA
50CM-D180035-E(1604)

MITSUBISHI ELECTRIC ENGINEERING COMPANY LIMITED

HEAD OFFICE: Hulic KUDAN BLDG.1-13-5, KUDANKITA CHIYODA-KU, TOKYO 1020073, JAPAN
NAGOYA ENGINEERING OFFICE:139 SHIMOYASHIKICHO-SHIMOYASHIKI, KASUGAI, AICHI 486-0906, JAPAN

@ SAFETY PRECAUTIONS @

(Always read these precautions prior to use.)
Before using this product, please read this manual carefully and pay full attention to safety to ensure that
the product is used correctly.
The precautions presented in this manual are concerned with this product only. For Programmable
Controller system safety precautions, refer to the user’s manual of the MELSEC-Q series CPU module to
be used.
In this manual, the safety precautions are ranked as “WARNING” and “CAUTION".

7 \

Indicates that incorrect handling may cause hazardous
/\ WARNING

conditions, resulting in death or severe injury.

Indicates that incorrect handling may cause hazardous

/\ CAUTION

conditions, resulting in medium or minor injury and/or property

,_________

damage.
Note that failure to observe the A\ CAUTION level instructions may lead to a serious consequence
according to the circumstances. Always follow the precautions of both levels because they are important
to personal safety.
Please keep this manual in an easy-to-access location for future reference, and be sure to provide the
manual to the end user.

[Precautions: Prior to Use]

CAUTION

® When replacing the MELSEC-A series with the MELSEC-Q series, be sure to refer to the various
MELSEC-Q series module manuals to check the differences in performance, functionality, CPU
input/output signals, buffer memory addresses, and the like. In addition, we recommend that you
also refer to the document L(NA)08045-D, “Guidelines: Replacing MELSEC-A/QnA (Large-Size)
Series with Q Series (Intelligent Function Module).”

A CAUTION

® Use the conversion adapter and conversion adapter anchor base in an environment of the general
specifications defined in the MELSEC-Q series CPU module user's manual. Failure to do so could
lead to electric shock, fire, malfunction or product failure or deterioration.

® Do not come in direct contact with the conductive area of the conversion adapter. Doing so could
lead to system malfunction or failure.

® Fully secure the conversion adapter and conversion adapter anchor base using the installation
screws, and tighten the installation screws securely within the specified torque range. Failure to do
so could cause the conversion adapter and anchor base to fall, resulting in conversion adapter and
conversion adapter anchor base damage.

® Be sure to confirm that the MELSEC-Q series and conversion adapter combination is correct. Use
of a different combination may result in module damage

Installation Precautions]

iring Precautions]

A WARNING

® Be sure to shut off all phases of the external power supply before performing installation or wiring
work. Failure to do so could result in electric shock or product damage.

@ If you want to energize and run the unit after completing the installation and wiring work, be sure to
close the terminal block cover attached to the MELSEC-A series terminal block. Failure to do so

could result in electric shock.
A CAUTION

@ Properly wire the conversion adapter after verifying the specifications and terminal layout of the
module to be used. Connecting a power supply with a different rating or improper wiring could lead
to fire or product failure.

@ Securely tighten the conversion adapter installation screws, conversion adapter anchor base

installation screws and MELSEC-A series terminal block installation screws within the specified

torque range. A loose screw may result in a short circuit, fire or malfunction. An excessively
tightened screw may result in screw or conversion adapter damage, causing the conversion
adapter to fall, a short circuit or product malfunction.

Do not allow foreign matter such as cuttings or wiring shavings to enter the conversion adapter or

module. Doing so could lead to fire, failure or malfunction.

A WARNING

® Do not touch the terminals during energization. Doing so could result in electric shock or
malfunction.

® Be sure to shut off all phases of the external power supply before cleaning and retightening
terminal screws. Failure to do so results in the risk of electric shock. Excessively tightened screws
could result in conversion adapter and module damage, causing the conversion adapter to fall, a

short circuit, or product malfunction.
A CAUTION

® Do not disassemble or modify the conversion adapter. Doing so could lead to failure, malfunction,
injury or fire.

® The conversion adapter case is made of resin. Do not drop or apply excessive impact to the case.
Doing so could lead to conversion adapter damage.

A CAUTION

® \When disposing of the product, treat it as industrial waste.

Startup and Maintenance Precautions]

Disposal Precautions]

A-2

@ Z&IEEN @

(EABNE SRR
FRA~RE, BFAFDESEAFMR, HRMIERSE, EfHtt
ER~R.
AFBPIREREEFEIICHE T EA=REXNAE. =T
AR HIR RGN R £ TEE, 155 RATE FRIMELSEC-Q
ZRTICPUIEIREIF P F At
EROREIEENOF, ReFTEFTNFRNA 8L
MIEE]

A FNERBIEATREERERER, SIEXT
=T gEHE.

AitE FREIRBEAREREKRER, SIEFE
T GE BB RUAERE.

B0, RBERFE, BESNFEPRHENER, bases|
AERR. TEMMCHHNARZFEEEENANS, FHZLL
T

BREREATH, WMEFTENERE, FERAFMTARE
AR,

[fERRTHEEE]

A EE
@ J\MELSEC-AZRFIE#a EMELSEC-QARFIRT, FFIAMEEE. Th
BE. CPUXMNRYMINIIEIES . EMEiEEbIE S ER
E5, Y-S BMELSEC-0RFIR & 1ERI F A iHITIE
.

A-3

A FEE

@ [ FEMELSEC-QZRFICPUIRIR A P F AP IC S pI— AR AR IR
BT R RER R RERREEES . MRE—RM
RSEELUMNOIME R, TTRESEMER . KR IRENE.
FEEmRERIAR S 1.

@ FTAEERMBERERFNSRI D . ENTEESER
RGRME. WM&,

@ HHUERCE RFHNER R EE & MiEd ZRIBE YISt
MUAEE, REBENAENENHEEERYIEITE.
A REERE T S B IR EC R KA IRBECEREE S RiR.

@ 55 LTIAMELSEC- QR IMRRFNFEIRER FHAERR
Effy. EHIRAA TR, AJRESSEMELSEC-0RT!

RRRITIR

[#EZEEEm]

N

@ VIUFINEME N £ ARET T R B TR EE I F . R
REHEEHTF, FaEaSHALEE R,

@ L%, BEElSTREHITER, BITHR, SOXH
MELSEC-AZ 5 FHER IR FHEER . QIR K K HAum FHE
SR, RS SHALE.

A FEE

@ IEHEINFRIE FAIEREV AR K i HES S IE At 1 T4E %
BECRRAVEL . ERTHETEENRRRIREEZ, 2F
BAREHPE.

A-4

N ==
A EE

@ FHHMEMBBREII®, HiIREAREEE A REIZ®.
MELSEC-AZF1uih FHER 258842 N £ #LE RO 2B SE Bl N ]
SCibiT . MRIBRITEER, SSEER. ARHIRED
1E. ANRIZHITEL R, BURERIBR R IRIER SN
AT SE %, EERIREE,

@ FEETEILIBRIBLLFRYFENERIBEFLE
BRA. SSBAR,. 8. RFE.

[EzhfndgEir T EE ]

AE &

@ EERRSTEMERT. TS SEMERIRIE.

@ EEHRERRE R FIREE, SFUSINERHEN R
FrERFF R BT, MRREMEETF, TRESSFHME.
MRIBRRITHE R, URSEREIREE R IERER
BN S % . FERRIRFNE.

AFEE

@ ETERI. BUERHERR. BUNTRSSHHE, R
;ME FHINR.

@ FHGERRHIINTERMAETIAK, EitiFR i E R EHRZ
BRIZUR T . BN RER IR HIERCRS .

[EFEEEm]

AxEE

@ EFFHERARIER T EFILIE.

A-5

REVISIONS
*The manual number is given on the bottom right of the front cover.

Print Date *Manual Number Revision
October 2008  |50CM-D180035-A |First Edition
April 2010 50CM-D180035-B
EMC AND LOW VOLTAGE DIRECTIVES
uly 2010 50CM-D180035-C
SAFETY PRECAUTIONS
uly 2014 50CM-D180035-D
EMC AND LOW VOLTAGE DIRECTIVES, Chapter 5, Section 5.1
Delete
Chapter 6
February 2016 |50CM-D180035-E
EMC AND LOW VOLTAGE DIRECTIVES, Chapter 2

[This manual confers no industrial property rights or any rights of any other kind, nor does it confer any
patent licenses. Mitsubishi Electric Engineering cannot be held responsible for any problems involving
industrial property rights which may occur as a result of using the contents noted in this manual.

EMC AND LOW VOLTAGE DIRECTIVES

Compliance to the EMC Directive, which is one of the EU Directives, has been a legal obligation for
the products sold in European countries since 1996 as well as the Low Voltage Directive since 1997.
Manufacturers who recognize their products are compliant to the EMC and Low Voltage Directives
are required to declare that print a "CE mark" on their products.

Authorized representative in Europe
Authorized representative in Europe is shown below.
Name: Mitsubishi Electric Europe BV
Address: Mitsubishi-Electric-Platz 1, 40882 Ratingen, Germany

CONTENTS

SAFETY PRECAUTION -
REVISIONS -++++rvsveereseees
EMC AND LOW VOLTAGE DIRECTIVES -
CONTENTS: -+

Overview:--+

Conversion Adapter Product Specifications
Products Required by the Conversion Adapter
Mounting and Installation
Part Names and Installation Method -

IS

EXEEINAI DIMMENSIONS -+ #++++++###xttee1mmsreetaaasttt b et et bttt e e bbb e e e e bbbt e e et e e et e e e e e e e e

1. Overview

This manual describes the Mitsubishi general-purpose Programmable Controller renewal tool
conversion adapter (ERNT-AQT616DA). The conversion adapter is a product that converts the
differences in MELSEC-A series and MELSEC-Q series pin assignments.

When replacing the MELSEC-A series with the MELSEC-Q series, be sure to refer to the various
MELSEC-Q series module manuals to check the differences in performance, functionality, CPU
input/output signals, buffer memory addresses, and the like. In addition, we recommend that you also
refer to the document L(NA)08045-D, “Guidelines: Replacing MELSEC-A/QnA (Large-Size) Series with
Q Series (Intelligent Function Module).”

Once you have opened the packaging, verify that it contains the following products.

Product Quantity
Conversion adapter 1
Mounting bracket 1
Mounting bracket fixing screw (M3.5 x 6) 4




Tiem AG16DAL QBBDAIN - - 5.2 Tightening Torque
—e 4. Mounting and Installation 9 9 forq
. o . ' ’ -bit signed binary | ; " i ; inte ti ;
2. Conversion Adapter Product Specifications Digital input 16-bit signed binary (Normal resoluion mode: -4096 to 4095, Tighten the module installation screws to the specified torque below. An inappropriate tightening torque
(0 t0 4095)
High resolution mode: -12288 to 12287, -16384 to 16383) 4.1 Handling Precautions could cause the product to fall or result in a short circuit, product failure or malfunction.
0t020mADC ) ) ,
[Analog output (Exteral load s stance vale 00 to6000) | 010 20mA DO (Extemal oad resistance value: 00210 6001 (1) Do not touch the terminals during energization. Doing so could result in electric shock or Screw Location Tightening Torque Range
Conversion A Series Module | No. of analog | Q Series Module | Conversion Adapter Digital nput_| Analog Output P e e :A::T: malfunction. Conversion adapter anchor base installation screw (M4 screw) 139 to 189N-cm
4000 20mA Input Input " " " . . . .
Adapter Model Model output Points Model Weight (g) 2000 12:A Rzn,gesv ﬁ“a Rei‘:m\)/" 'va'u; R:s::“oc (2) Do not disassemble or modify the conversion adapter. Doing so could result in failure, Mounting bracket fixing screw (M3.5 screw) 68 t0 92 N-cm
0 4mA e HPA 710 to 12000 u P .
ERNT-AQT616DA ABTEDAY 16 QBEDAVN x 2 280 Input/Output characteristics Maximum resolution: 1/4000 § <Ll\oivov - ;:m: e 2222”3 malfunction, injury or fire. Conversion adapter bottom instalation screw (M3 sorew) 431057 N-cm
: £| -0t p m 16000 m S . " " .
AB16DAI QB8DAIN x 2 2 arrangs| 00" o7omy | 120006 o (3) Do not come in direct contact with the conductive area of the conversion adapter. Doing so Conversion adapter installation screw (M3 screw)
Sotting 12000 ) ) .
5 S 2 15 g 4000 [ S8 oo e could result in system malfunction or failure. MELSEC-A series terminal block installation screw (M4 screw) 102 to 138 N-cm
Terminal | Signal Terminal|  Signal 3 st | “iooo” | 1w [oto12000] oaun (4) Fully secure the conversion adapter and conversion adapter anchor base using the
_I”_‘E’g?r No. Naci’/ . ?Serlesl £0.6% (+120pA) <K (5v§||:’g":'i":0mv Curren}v?‘zhol?li)m g installation screws, and securely tighten the screws within the specified torque range. 6. External Dimensions
= == erminal 1 " N " o . . . -
TE\?'I; Ji Bz | CH! \(}0/ Block Overall accuracy For25 ig’g‘j)e(";égr:)eramre 0 to 55°C ambient temperature: Within + 0.3% Failure to do so could cause the conversion adapter and anchor base to fall, resulting in
+T+ B +l+ e (Voltage: + 30mV. Current: + 60uA)
[ TB4 Ho I Com | B CH2 COM | Slot No. S ———— 0.5ms. ] 80us/channel conversion adapter and conversion adapter anchor base damage.
B5 | [VHI+ B5 [ opa [ VHI+ (0mA — 20mA, 20mA — OmA conversion time) it
[ TB6 COM | [ TB6 COM | [Absolute maximum output N 21mA 4.2 Use Precautions nit:mm
B7 V+/I+ 7 V+/1+ No. of analog output points. 16 - N
Te:ni:‘;?ock 188 |°"*[CoM| 51 CH4 com Between outpul - ltem Use Precautions o ©f .
—{ 1] BY oy [ VHI+ | ‘ BY [ g [ VHI* | terminal and Photocoupler isolation Photocoupler isolation Depth The depth increases. Verification prior to installation is required. Mounting bracket
82 B COl ‘ B10 C solation {PLC power. Q series module
{783 B VAI+ ‘ B VHT+ ethod  [Between channel Non-isolated Non-isolated
| s e SOM | B12 | "6 com] Botween - A series module +
[ 186 VAT B o DA external power - Transformer isolation Renewal tool b o <
MAATIER [V |
allgrr COl B \%O/ v NoXhioeeupis po;rl‘g 3 ports 76 points IS
11 g HE %L = CH8 Y Connected terminal block 38-point terminal block 18-point terminal block i, q
TB13 7 VZYES a B Giment 0.3A - <] Conversion
o8 5157 FEOM ; B Exemal  |Voltage 15VDC/-15VDC 24VDC + 20%, - 15% adapter
— 9 Vil lpower supply [Current 15VDC: 0.53A/ -15VDC: 0.125A 0.27A
B20 |°"®com} L \ Base adapter
TB19 [
B2 VHI+ Q Series . jas) 3 K
TB21 Ho [ Note: .
o2 | [ 1B2 CO Terminal Block [TB337 ¢ }_\éjo/l; Conversion adapter B A N e
e 7%, o VAI+ | Slot No.+1 1. For an external power supply connected to Note 1 L 3‘5‘ OPENM anchor base
821 [[TB25 [cH [ V+/I+ | L terminal number TB36 or TB37 of the MELSEC-A [TB36| +15V J 55.2
829 B26 | B Change to 24V 7 o
831 [ TB27 o VH/I+ | series side, change the power supply to 24VDC. _ITB38] 15V 140 176.2
833 7333 o \(;8 m Note 2 ‘ &
== TB35 TCOM | i .
TB37 = \%O/ il 2. The =15V connected to terminal number TB38 of Not required 36.2mmUP(24.4mm) ﬁ -
=7 GEH $:77“ the MELSEC-A series side is not required. The value in parentheses is the dimension when the base adapter is not used.
FOP%CI)\Ii H \7 3. Program changes (changes to input/output signals and buffer memory addresses) are required.
e eeeas, N 5 . .
Change the TB 6 | +15V i B COl 4. For detailed and general specifications not stated in the Specification Comparison Chart, refer to 4.3 Installation Environment
; | B37 oV B17 24V . - p ; : i ) » Duplication Prohibited
H i = 1 = th | of th I N t that I fer to th For details of the installation environment, refer to the user’s manual of the MELSEC-Q series CPU . . X . i ) .
136/37 external B3g | -15V B18 24G e user's manual of the module used. In addition, we recommend that you also refer to the This manual may not be reproduced in any form, in part or in whole, without written permission
i power supply to | N - J document L(NA)08045-D, “Guidelines: Replacing MELSEC-A/QnA (Large-Size) Series with Q module to be used. from Mitsubishi Electric Engineering Company Limited.
i24VDC. -15V of Conversion Adapter Series (Intelligent Function Module).” For those sections in which the MELSEC-A series ©2014 MITSUBISHI ELECTRIC ENGINEERING COMPANY LIMITED ALL RIGHTS RESERVED
iTB38 Is not specifications and MELSEC-Q series specification differ, specification restrictions may apply upon \ MELSEC is a registered trademark of Mitsubishi Electric Corporation. \
required. replacement. Check the specifications of the connected devices.
2 4 6 8

Module Specification Comparison Chart ‘

3. Products Required by the Conversion Adapter 5. Part Names and Installation Method
Item A616DAV. Q68DAVN Please confirm the following product warranty details prior to product use.
" 16-bit signed binary i Q series module
Digital input 16(_%;?:‘53(?9'2?"/ (Normal resolution mode: -4096 to 4095, (1) Conversion Adapter Anchor Base (Sold Separately)
High resolution mode: -12288 to 12287, 16384 to 16383) The conversion adapter anchor base secures the bottom of the conversion adapter and is required Mounting bracket (conversion accessory) ratis Warranty Terms and Gratis Warranty Range
When the output voltage range setting is 10V:-10 to 0 for conversion adapter use. One anchor base is required per base. 35X T
to 10VDC (External load resistance value: 2kQ to 1MQ) . » ; a ” " i i : i ;
Analog output N 10 to 10VDC (External load resistance value: 1kQ to 1MQ) K P If any fault or defect (hereinafter referred to as “Failure”) attributable to Mitsubishi Electric Engineering
‘Ag\‘/e[;‘g;;:::‘:‘ r::gr;:zg\e;?:mi'sz:;‘tf:;%;0 ionr‘:efséon Aiﬂap&ﬁ Specifications Company Limited (hereinafter referred to as “MEE”) should occur within the gratis warranty period, MEE shall
nchor Base Mode i i i istri
s o o Rosolion Niods Type Weight (g) repair the product free of charge via the distributor from whom you made your purchase.
Digital I AtSV AL10V Analog Output .
O | Sating | Seting RaGe (o] At o clod Resoluton] ERNT-AQF 12 12-slot conversion adapter anchor base 590 £LSEC.A serios torminal ) )
4000 SV 10V OtosV_I"0to | 1.25mV [ 4550 0476mV] ERNT-AQF8 8-slot conversion adapter anchor base 410 block installation screw (M4) W Gratis Warranty Period
20000 2")5\’ g g TtoSV | 4000 1 fomV e - @ The gratis warranty period of this product shall be one (1) year from the date of purchase or delivery to
Input/Output T e = £ ootov] e 25 [T 0.625mV ERNT-AQF5 5-slot conversion adapter anchor base 275 the designated place.
-4000 5V 10V e Usjg'n":gge 4000 | o75my | 120901 0.333mv ERNT-AQF3 3-slot conversion adapter anchor base 185 Conversion adapter Note that after manufacture and shipment from MEE, the maximum distribution period shall be six (6)
Maximum resolution: 1/4000 =0t 20mA 50A 1660 anchor base months, and the gratis warranty period after manufacturing shall be limited to eighteen (18) months.
H oOto oto
3 U‘g;‘:i"ﬂ"‘: oA . 1.33pA MELSEC-A series In addition, the gratis warranty period for repaired products shall not exceed the gratis warranty period
S| Mg | Taoo0 | A | 000" 083A " terminaf Block (32 points established prior to repair.
(2) Base Adapter (Sold Separately) '
Output Vol N . Wit
Range Satng | %V hd 25+ 5°C ambient temperature: Within + 0.1% The base adapter enables MELSEC-Q series installation using the installation holes of the
Overall accuracy P 0.6% 0.6% (Voltage: + 10mV, Current: + 20pA) i i N o X n Gratis Warranty Range
0lo55°C) (260mV) | (+30mV) | 0 to 55°C ambient temperature: Within + 0.3% MELSEC-A series base unit. (Additional hole machining not required) y - .
[Ambiet temperature| — £0.3% £0.3% (Voltage: £ 30mV, Current: + 60A) — The gratis warranty range shall be limited to normal use based on the usage conditions, methods and
(250 (:30mV) |_(£15mV) | Specifications Conversion adapter anchor base installation screw g @ environment, etc., defined by the terms and precautions, etc., given in the instruction manual, user's
e cr e e .5ms. 80us/channel Base Adapter Model MELSEC-A Series | MELSEC-Q Series | Installable Conversion | Weight M4 x 8 (conversion adapter anchor base accessory) manual and caution labels on the product.
= _ — (-10V — 10V / 10V 75—\}0\/ ion time) v Compliant Module | Compliant Module | Adapter Anchor Base (9)
solute maximum outpu +
No. of analog output points 16 channels/module 8 channels/module ERNT-AQB38 A:BSBgElsJL %3;82BB ITER;{’\I‘\I‘I:IZAA%TSZ 970 5.1 Installation Method
e ] Photocoupler isolat Photocoupler isolation A38B.E ” Warranty Period after Discontinuation of Production
:;S;’;asuanll ‘otocoupler isolation plert A3BHB [1]  Secure the conversion adapter anchor base to the base adapter or control panel using the
';‘;m(;" Between channell Non-isolated Non-isolated A38HBEU conversion adapter anchor base installation screws (M4 x 8) provided as an accessory. (1) MEE shall offer product repair services (fee applied) for seven (7) years after production of the product
Between externall ERNT-AQB68 AGSB Q6128 930 . has been discontinued. Discontinuation of production shall be reported via distributors.
power supply - Transformer isolation - (Two end locations) (2)  Product supply (including spare parts) is not possible after production has been discontinued.
land analog A68B-UL Q68B
No. of occupied points 32 points 16 points ERNT-AQB58 A58B Q68B ERNT-AQF8 870 " : . " -
Connedid termingl blodk 35-point torminal BIogk T8-pomt terminal Block ABSB.LIL [2] Secure the mounting bracket to the Q series module using the mounting bracket fixing
[Current consumption 0.38A 0.38A ERNT-AQB35 A35B Q38B ERNT-AQF8 795 screws [M3.5 x 6 (conversion adapter accessory); two upper/lower locations]. Exclusion of Opportunity Loss and Secondary Loss from Warranty Liability
External Voltage 15VDC/-15VDC 24VDC + 20%, - 15% A35B-UL Q358 ERNT-AQF5
power supply [Current 15VDC: 0.2A/-15VDC: 0.17A 0.2A A35B-E [3]  Mount the conversion adapter onto the mounting bracket. Regardless of the gratis warranty period, MEE shall not be liable for compensation for damages arising from
ERNT-AQB65 A65B Q68B 790 . . X . . i causes not attributable to MEE, opportunity losses or lost profits incurred by the user due to Failures of MEE
AB5B-UL Q658 [4]  Secure the conversion adapter using the conversion adapter installation screws (M3 x 30; 4 products, damages or secondary damages arising from special circumstances, whether foreseen or
Q55B locations). unforeseen by MEE, compensation for accidents, compensation for damages to products other than MEE
ERNT-AQB55 A55B Q658 ERNT-AQF5 655 products, or compensation for other work carried out by the user.
AB5B-UL Q558 | Precauion |
ERNT-AQB32 A32B Q33B ERNT-AQF3 675 Before tightening the installation screws, check that the Conversion Adapter has been
A32B-UL . ) N ) ) i ificati
:323_% securely installed on the MELSEC-Q Series module. Tightening the screws in floating-off ges in Product Specificatio
ERNT-AQB62 A62B Q63B 650 state or tilting state will damage the Conversion Adapter installation screws and the The specifications given in the catalogs, manuals and technical documents are subject to change without
Q528 mounting bracket notice.
ERNT-AQB52 A52B Q52B 505 .
[5] Secure the conversion adapter using the conversion adapter bottom installation screw (M3 x
45; 2 location). This document is a new publication, effective April 2016. Specifications are subject to change without notice.

[6] Secure the MELSEC-A series terminal block to the conversion adapter using the terminal
block installation screws (M4; two upper/lower locations). Developed April 2016
50CM-D180035-E



